
INSTRUCTION MANUAL



TABLE OF CONTENTS

2 BANKS OUTDOORS

Stump Overview......................................................................................3

Stump 1 Assembly....................................................................................4

Stump 2 Assembly....................................................................................5

Stump 3 Assembly....................................................................................6

Stump 4 Assembly....................................................................................7

Stump 2 Scout/Ice Assembly.................................................................8

Stump 4 Scout/Ice Assembly.................................................................9

Anchor Kit.................................................................................................10

Bow Hanger................................................................................................11

Curtain Kit.................................................................................................12

Framed Window.......................................................................................13

Stealth Screen............................................................................................14

Storage Console..........................................................................................15

Wall Insulation..........................................................................................16

Other Banks Products...............................................................................17

Warranty Information............................................................................18

Warrany Registration Card....................................................................19

Company Information.............................................................................20



WWW.BANKSOUTDOORS.COM 3

CONGRATULATIONS ON PURCHASING YOUR NEW STUMP BLIND!

The Stump has been providing comfortable and enjoyable 
hunting since 2003. To ensure safety and longevity, we ask 
that you please follow the instructions carefully. If during the 
assembly you have any questions, please call: 800-262-4129 

from 8am-5pm M-F central standard time.

Whether you are using your Stump to introduce a young 
hunter to the woods or positioning yourself for the hunt of a 
lifetime, you will quickly realize that this blind is one of the 
most valuable tools you have in your arsenal.

CONTENTS IN THIS PACKAGE:
   
   1. Stump Blind
   2. Assembly Hardware
   3. Window Kit with Hardware
   4. Steel Base
   5. Wood Floor
   6. Instruction Manual

STUMP OVERVIEW



STUMP 1

4 BANKS OUTDOORS

TOOLS NEEDED:
•  1/2” Nut Driver
•  Flat Head Screwdriver
•  Phillips Screwdriver/Bit
•  Cordless Drill

1. Place your grab handle on the outside of the blind to the left of the 
door. See the two predrilled holes.  On the outside of the blind place 
the handle over the holes, run your (2) 10-24 x 1 1/4” handles bolts 
through the handle and into the stand. Insert a fender washer on the 
inside on each of the bolts.  Fasten down with your 10-24 lock nuts 
and tighten to a snug fit. DO NOT OVER TIGHEN!

2. Attach the outside door handle to open door. Insert flat head door 
handle bolt into black handle then attach it to the door latch and 
tighten.

3. (To Elevate) Set the stand on its side. Take your green treated 4 x 4 
posts and slide them into the steel pockets on the base. Install two lag 
screws into each post through the holes on each steel pocket.

Cross brace all your legs for added support. You are ready to elevate your Stump.

NOTE: Maximum height is 8ft. to the angled base.

INCLUDED PARTS:
(1) Stump Blind
(1) Steel Base
(1) Wood Floor
(8) Lag Bolts

(1) Door Handle
(1) Grab Handle
(2) 1/4x1” Washers
(2) 10/24x1” Bolts
(2) 10x24 Lock Nuts



STUMP 2

WWW.BANKSOUTDOORS.COM 5

TOOLS NEEDED:
•  1/2” Nut Driver
•  Flat Head Screwdriver
•  Phillips Screwdriver/Bit
•  Cordless Drill
• 1/4” Drill Bit
•  7/16” Wrench
•  3/8” Wrench

1.  Install your one shelf. Hold your shelf in the desired location on the 
wall of your blind. In the slots below the shelf drill a 1/4” hole into the 
wall of the blind. Bolt the shelf to the blind using the (2) 1/4-20 x 1 
1/4” bolts, 1/4” fender washers, and 1/4-20 nuts.

2.  Attach the outside door handle to open door. Insert flat head door 
handle bolt into black handle then attach it to the door latch and 
tighten.

3.  Place your grab handle on the outside of the blind to the left of the 
door. See the two predrilled holes.  On the outside of the blind place 
the handle over the holes, run your (2) 10-24 x 1 1/4” handles bolts 
through the handle and into the stand. Insert a fender washer on the 
inside on each of the bolts.  Fasten down with your 10-24 lock nuts 
and tighten to a snug fit. DO NOT OVER TIGHEN!

4.  (To Elevate) Set the stand on its side. Take your green treated 4 x 4 
posts and slide them into the steel pockets on the base. Install two lag 
screws into each post through the holes on each steel pocket.

Cross brace all your legs for added support. You are ready to elevate your Stump.

NOTE: Maximum height is 8ft. to the angled base.

INCLUDED PARTS:
(1) Stump Blind
(1) Steel Base
(1) Wood Floor
(8) Lag Bolts
(1) Shelf
(2) 1/4-20 Lock Nuts
(2) 1/4” Washers

(1) Door Handle
(1) Grab Handle
(2) 1/4x1” Washers
(2) 10/24x1” Bolts
(2) 10x24 Lock Nuts
(2) 1/4-20 x 1 1/4” Bolts



STUMP 3

6 BANKS OUTDOORS

TOOLS NEEDED:
•  1/2” Nut Driver
•  7/16” Nut Driver
•  Phillips Screwdriver/Bit
•  Cordless Drill
•  1/4” Drill Bit
•  7/16” Wrench

1. Install your one shelf. Hold your shelf in the desired location on the 
wall of your blind. In the slots below the shelf drill a 1/4” hole into the 
wall of the blind. Bolt the shelf to the blind using the (2) 1/4-20 x 1 
1/4” bolts, 1/4” fender washers, and 1/4-20 nuts.

2. (To Elevate) Set the stand on its side. Take your green treated 4 x 4 
posts and slide them into the steel pockets on the base. Install two lag 
screws into each post through the holes on each steel pocket.

Cross brace all your legs for added support. You are ready to elevate your Stump.

NOTE: Maximum height is 8ft. to the angled base.

INCLUDED PARTS:
(1) Stump Blind
(1) Steel Base
(1) Wood Floor
(8) Lag Bolts

(1) Shelf
(2) 1/4-20 x 1 1/4” Bolts
(2) 1/4-20 Lock Nuts
(2) 1/4” Washers



STUMP 4

WWW.BANKSOUTDOORS.COM 7

1. Install your one shelf. Hold your shelf in the desired location on the 
wall of your blind. In the slots below the shelf drill a 1/4” hole into the 
wall of the blind. Bolt the shelf to the blind using the (2) 1/4-20 x 1 
1/4” bolts, 1/4” fender washers, and 1/4-20 nuts.

2. Attach the outside door handle to open door. Insert flat head door 
handle bolt into black handle then attach it to the door latch and 
tighten.

3. (To Elevate) Set the stand on its side. Take your green treated 4 x 4 
posts and slide them into the steel pockets on the base. Install two lag 
screws into each post through the holes on each steel pocket.

Cross brace all your legs for added support. You are ready to elevate your Stump.

NOTE: Maximum height is 8ft. to the angled base.

TOOLS NEEDED:
•  1/2” Nut Driver
•  7/16” Nut Driver
•  Phillips Screwdriver/Bit
•  Cordless Drill
•  1/4” Drill Bit
•  7/16” Wrench

INCLUDED PARTS:
(1) Stump Blind
(1) Steel Base
(1) Wood Floor
(8) Lag Bolts

(1) Shelf
(2) 1/4-20 x 1 1/4” Bolts
(2) 1/4-20 Lock Nuts
(2) 1/4” Washers



STUMP 2 SCOUT & ICE

8 BANKS OUTDOORS

TOOLS NEEDED:
•  1/2” Nut Driver
•  Flat Head Screwdriver
•  Phillips Screwdriver/Bit
•  Cordless Drill
• 1/4” Drill Bit
•  7/16” Wrench
•  3/8” Wrench

1. Install your one shelf. Hold your shelf in the desired location on the 
wall of your blind. In the slots below the shelf drill a 1/4” hole into the 
wall of the blind. Bolt the shelf to the blind using the (2) 1/4-20 x 1 1/4” 
bolts, 1/4” fender washers, and 1/4-20 nuts.

2. Attach the outside door handle to open door. Insert flat head door 
handle bolt into black handle then attach it to the door latch and 
tighten.

3. Place your grab handle on the outside of the blind to the left of the 
door. See the two predrilled holes.  On the outside of the blind place 
the handle over the holes, run your (2) 10-24 x 1 1/4” handles bolts 
through the handle and into the stand. Insert a fender washer on the 
inside on each of the bolts.  Fasten down with your 10-24 lock nuts 
and tighten to a snug fit. DO NOT OVER TIGHEN!

Your Assembly is Complete!

INCLUDED PARTS:
(1) Stump Blind
(1) Sled Base
(1) Wood Floor
(1) Steel Hitch
(1) Shelf
(2) 1/4-20 Lock Nuts
(2) 1/4” Washers

(1) Door Handle
(1) Grab Handle
(2) 1/4x1” Washers
(2) 10/24x1” Bolts
(2) 10x24 Lock Nuts
(2) 1/4-20 x 1 1/4” Bolts



STUMP 4 SCOUT & ICE

WWW.BANKSOUTDOORS.COM 9

1. Install your one shelf. Hold your shelf in the desired location on the 
wall of your blind. In the slots below the shelf drill a 1/4” hole into the 
wall of the blind. Bolt the shelf to the blind using the (2) 1/4-20 x 1 
1/4” bolts, 1/4” fender washers, and 1/4-20 nuts.

2. Attach the outside door handle to open door. Insert flat head door 
handle bolt into black handle then attach it to the door latch and 
tighten.

Your Assembly is Complete!

TOOLS NEEDED:
•  1/2” Nut Driver
•  7/16” Nut Driver
•  Phillips Screwdriver/Bit
•  Cordless Drill
•  1/4” Drill Bit
•  7/16” Wrench

INCLUDED PARTS:
(1) Stump Blind
(1) Sled Base
(1) Steel Hitch

(1) Shelf
(2) 1/4-20 x 1 1/4” Bolts
(2) 1/4-20 Lock Nuts
(2) 1/4” Washers



ANCHOR KIT

10 BANKS OUTDOORS

1.  Attach the Cable to the d-ring of the Steel Base.

2.  Screw in the Earth Anchor directly below the blind.

3.  Attach the Turn Buckle to the Earth Anchor.

4.  Atach the Cable to the Turn Buckle.

5.  Tighten Cable and Clamp with the Cable Clamps.

INCLUDED PARTS:
(1) Turn Buckle
(1) Earth Anchor

(1) 10’ Cable
(2) Cable Clamps



BOW HANGER

WWW.BANKSOUTDOORS.COM 11

TOOLS NEEDED:
•  Phillips Screwdriver/Bit
•  Cordless Drill
• 1/4” Drill Bit
•  7/16” Wrench

1.  Find desired location on the inside of the roof of your Stump.

2.  Drill 1/4” hole at the location.

3.  Insert the bolt into the Bow Hanger and insert the bolt through the 
black bushing.

4.  Insert the bolt through your drilled hole. On top of the blind, place 
the washer on the bolt, then place the lock nut on the bolt and tighten 

to a snug fit.

INCLUDED PARTS:
(1) Bow Hanger
(1) 1/4” Bolt
(1) Lock Nut

(1) Lock Nut
(1) Washer



CURTAIN KIT

12 BANKS OUTDOORS

1.  Hold the curtain up to the window & line up where to attach the 
magnets.

2.  Screw in the magnets.

3.  Attach the  curtains to the magnets. Make sure the curtain covers 

the window.

4.  Recommended: Curtains should be placed with camouflage facing 

out.

INCLUDED PARTS:
(2) Magnets/Screws per Curtain
*Number of curtains varies per blind



FRAMED & VISION WINDOW

WWW.BANKSOUTDOORS.COM 13

1.  Unpack items. If applying to a Banks Blind proceed to step 3. 

If applying to another, proceed to step 2.

2.  Cut out an opening for the Framed or Vision window to fit into.

	 2a. *Notice radius corners & cut opening accordingly.
	 2b. Insert Framed Window into the opening & drill out the 6 	
	 attachment holes.

3.  Take your 1 3/4” 10-24 bolts and insert into the window latch so the 
working on the latch faces the head of the bolt. See photo below for the 
correct holes to use. Secure the bolt with the lock nut and tighten to a 
snug fit. Repeat for remaining holes.

4.  For the holes indicated in the photo below, use the 1” 10-24 bolts to 
fasten the framed window to the blind.

5.  Adjust the tightness of the bolts so that the windows open properly 
and the latches latch properly.

INCLUDED PARTS:
(4) Window Latches
(2) 1” 10/24 Bolts

(4) 1 3/4” 10/24 Bolts
(6) Lock Nuts



STEALTH SCREEN

14 BANKS OUTDOORS

1.  Wipe down outside of window to remove dirt and dust, creating a 
dry and clean surface.

2.  Peel off only the heavy white paper exposing black adhesive.

3.  Apply Stealth Screen to the outside of your Stump Window.

4.  Use a flat surface to remove any air bubbles.
5.  Peel off remaining paper to expose camouflage.

6.  Use a utility knife to trim edges so they fit the shape of the window.
7.  Repeat for remaining windows.



STORAGE CONSOLE

WWW.BANKSOUTDOORS.COM 15

INCLUDED PARTS:
(1) Stoage Console
(2) 1/4-20 x 1.5” Bolts 

(2) 1/4-20 Lock Nuts 
(2) Washers 

1.  Place your Storage Shelf  in desired location in your blind.

 

2.  Drill your (2) attachment holes into the blind by using the storage 
shelf as your template. We recommend using a level. 

3.  Attach the Storage Shelf to the blind using the 1/4-20 x 1.5” bolts
and washers. 

4.  Fasten the shelf to the blind using the 1/4-20 lock nuts. Tighten
to a snug fit.    



WALL INSULATION

16 BANKS OUTDOORS

1.  Unpack all layers.

2.  Wipe down all the walls.

3.  Follow cut-sheet for layout & placement of wall insulation.

4.  Crack & peel the backing of the insulation to expose the adhesive film.

5.  Stick insulation to the walls.



OTHER BANKS PRODUCTS

WWW.BANKSOUTDOORS.COM 17

Check out these other Banks Outdoors products!

FEEDBANK
The Feed Bank is a gravity-fed deer feeder designed 
to elevate with a single center post. This eliminates 
any obstruction for bucks to access the feed. Available 
in 40lbs, 150lbs, 300lbs and 600lbs.

WILD WATER®
Wild Water® is the watering system for all the 
wildlife on your property. Reduce the effect 
disease and dehydration can have on your deer herd.

WILD WATER® MINERAL SUPPLEMENT
The mineral supplement not only maximizes deer health, 
it is also highly desired which increases deer activity right 
where you want them.

STEEL SKID SYSTEM
The Steel Skid System mounts to any Banks 
Outdoors hunting blind and instantly delivers 
a solid tower blind, which is easy to move around 
the property and get in and out when hunting.

STEEL TOWER SYSTEM
Available in 4′, 8′ and 12′ heights, The Steel Tower 
System mounts to any 
Banks Outdoors hunting blind.

 



WARRANTY

LIMITED LIFETIME WARRANTY

The Banks Outdoors product(s) purchased from our authorized dealers is 
warranted to be free from defects in material and workmanship for as long 
as the registered original owner owns the blind. Banks Outdoors will repair 
or replace your product, with the same or comparable model free of charge 
(shipping charges not included) for life, once the product has been registered 
with Banks Outdoors, in the event of a defect in materials or workmanship 
occurring during normal use. The warranty only extends to the original retail 
purchaser named on the product registration. The product must be 

registered on www.banksoutdoors.com or by mail before warranty 

performance. 

WHAT IS NOT COVERED?

Not covered under this warranty are failures due to misuse, abuse or normal 
wear and tear and improper installation. Additionally, failures due to acts 
of God & nature, such as storms, strong winds, and animal damage are not 
covered by this warranty. 

NO ADDITIONAL WARRANTY APPLIES

The Limited Lifetime Warranty is the exclusive warranty for Banks Outdoors 
products. Dealers, Retailers, or Representatives are not authorized to alter this 
warranty or create additional warranties on behalf of Banks Outdoors.

HOW TO SUBMIT A WARRANTY REQUEST

Please call 1-800-262-4129.

To become a registered owner of your Banks Outdoors Stump Blind, please 
complete the online Product Registration form at www.banksoutdoors.com, 
or submit your registration by mailing the card included with your product. 

Your product needs to be registered in order to take advantage of the Limited 
Lifetime Warranty.

18 BANKS OUTDOORS



C
ut

 a
lo

ng
 li

ne

N
am

e:

A
dd

re
ss

: 

C
ity

:  
   

   
   

   
   

   
   

   
   

   
   

   
 S

ta
te

:  
   

   
   

   
   

   
  Z

ip
: 

Em
ai

l:

Ph
on

e 
N

um
be

r:

 Pr
od

uc
t:

Se
ri

al
 #

:			



D

at
e 

of
 P

ur
ch

as
e:

Pu
rc

ha
se

 L
oc

at
io

n:
				






M
ai

l t
o:

 B
AN

KS
 O

U
TD

O
O

RS
 - 

31
78

5 
64

TH
 A

VE
 C

AN
N

O
N

 F
AL

LS
, M

N
 5

50
09

 

W
AR

RA
N

TY
 R

EG
IS

TR
AT

IO
N

 C
AR

D
T

he
 p

ro
du

ct
 m

us
t b

e 
re

gi
st

er
ed

 o
n 

w
w

w
.b

an
ks

ou
td

oo
rs

.c
om

 o
r b

y 
m

ai
l b

ef
or

e 
w

ar
ra

nt
y 

pe
rf

or
m

an
ce

.



COMPANY INFORMATION				             2018

W W W . B A N K S O U T D O O R S . C O M

31785 64TH AVE CANNON FALLS, MN 55009

1-800-262-4129


	1
	2 - Contents
	3 - Stump Overview
	4 - Stump 1
	5 - Stump 2
	6 - Stump 3
	7 - Stump 4
	8 - Stump 2 IceScout
	9 - Stump 4 IceScout
	10 - Anchor Kit
	11 - Bow Hanger
	12 - Curtain Kit
	13 - FramedandVision Window
	14 - Stealth Screen
	15 - Storage Console
	16 - Wall Insulation
	17 - Products
	18 - Warranty
	19 - Warranty Card
	20 - Back

